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14.7Anhang

◆ Aufgabe: Bitte versuchen Sie sich mit einer Datens
chen was passiert:

/* testpointer2.c */

/* keine Programmier-Stil-Empfehlung! */

main()

{ int i;

char *c[] = { "ENTER","NEW","POINT",

char **cp[4];

char ***cpp = cp;

for (i=0; i< 4; i++)

cp[i] = c + 3 -i;

printf("%s", **++cpp);

printf("%s", *--*++cpp + 3);

printf("%s", *cpp[-2]+3 );

printf("%s\n", cpp[-1][-1]+1);

}
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POINTERSTEW - Lösung

ccp

cp

c

E

N

T

E

R

0

N

E

W

0

P

O

I

N

T

0

F

I

R

S

T

0

ccp

cp

c

E

N

T

E

R

0

N

E

W

0

P

O

I

N

T

0

F

I

R

S

T

0

char *[] = {...};
char **[]={c+3,...,c};
char ***cpp = cp;

*(*(++cpp))
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